Thanksgiving Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

1 6
6 |7]8]5 2 |1 9
21913 7 514
5 9 8 | 7 2
1 81265 9
713 219 8 |5
315 3 71612
8 |2 = 519 3
9 117 314 5
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

4 111519382716
6 |7/8|514(2]1,3]9
2191311716548
504913871621
1 {81216 5413 ,9|7
7131612911854
3151418191762
8121714659 1]3
996 1171231485
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